( 1200 wing ) 09/001—XC1
i2 REHR kb

blie B ERRRIK Wbplicie e BRBRIK LDkpllk
é¢Surdures

Amqeqoad-uou pue Surndures
Amaqeqoxd £q ueswr nok op yeym (q)

| EELBRE
e R ehbpikie Mo YR BRROIK jr lRER b

‘Koams B Ul SIOLID
Surndures-uou pue Surdures ureldxy (v)

P Rigllp P b Lb2K MR [2hl B Lt DEYIYI

Ob=tx01
: Sumorjoj ay} jo suonsanb unof Aue tamsuy I

2 hlbblie T l2b k2K
by ‘3 k2 0P o [MAK BLh I lkiglikgh
Krospndwod st T "ON uonsand yormym ur.
suonisanb aAy Iamsue 0} paimbal are sajeprpue)

2 Do 22 #jioh pr pIYI2

syuow nf a3vorpur wbiow ay3 ur saunby ay[

2wk € khb 00T : }ich
smoy ¢ : auf 00T : SYDW Ind
II—kh-k2K
I—JAdVd
1832
SOILLSILLVLS
ANSOOP

L—so8ed pajuld jo ‘ON Teiol




(c)

(d)

(e)
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2. (a)

12Y—100/60

(2)

What is two-stage sampling?
T wioemm a1 #7

What is
experiment?

TGIURHE YA @ w1 A §7

What is lattice design?

AT rfvere = 7

What do you understand by statistieal
quality control?

qifessdta qu-fa=m @ ane v goea §7

meant by a factorial

‘What is linear programming problem?

Waw wsEROT TR T A7

What is transportation problem?
RIS b i ¥

Define simple random sampling. Prove
that the sample mean  and the sample
mean square s? are unbiased for
population mean Y and population
mean square S? in mwbd&m. random

sampling without replacement.
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( Continued )

10.

(@)

(b)

(@)

(b)

(7)

What are the principal columns of a
life-table? Explain their significance and
inter-relationship. Mention the uses of
life-table.

Sftem-aroft & g @ w®= §7 39 ol aw
T A T B owmed fav-awo &
TN 1 Fuit R

Describe different measures of fertility.
Distinguish between the net reproduc-
tion rate and gross reproduction rate.

Jata % fafra At w6 v AR 3 o
T IFA W ) F WT FaEd

Give details of o-scaling of scores.
Compare T-scores and standard scores.

@R F o-uRmm K =men HRR | TR ok
HHE TR A gert R

What do you mean by Intelligence
Quotient (IQ)? Describe the procedure
and tests for measuring IQ.
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4.
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(a)  Differentiate

(b)

()

(a)

(4)

between a ‘completely
randomized design’ and a randomized
block design’. Illustrate your answer.

‘pfa: argfesdiga wfimee aur ‘agfeshiga
Gew Afimed’ # @1 I 87 IS wia
T |

Discuss with suitable illustration the
role of randomization, replication and
local control in design of experiments.

ST Il Wi W aifmeewn # -

Tefesdiem, g WM 9w R R
e H Eew A

What is the use of missing plot
technique?

STYTH QAF qheieh T T IGGNT 27

What are the principles underlying the
construction of quality control charts?
How do they control quality? Explain in
detail p and np charts.

orar FreEw Rt % fmtn % smafifke R
w1 37 A o H e yer e ww@ €7 p
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(b)

6. (a)

(b)
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(5)

Explain the concept of producer’s and
consumer’s risk in sampling inspection
schemes. Define the average sample
number (ASN) and average outgoing
quality (AOQ) in the case of double-
sampling inspection.

e flga Qe & sars @ snde %
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What is OR? Give an account of the
scope of OR. Also enumerate various
types of models.

OR =1 87 om%%ﬁﬁw@.&@%w_
faftm wfamEl &0 oft fawo R\

What is queueing problem? Show that if
the interarrival times are negatively
exponentially distributed, the number of
arrivals in a time period is a Poisson
process and conversely.
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